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MATHEMATICAL METHODS (CAS) 
 

Units 3 & 4 – Written examination 1 
 

 

2009 Trial Examination 

 
SOLUTIONS 
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Question 2 
 
a. Let 0=x  
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Question 3 
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Question 4 
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Question 5                                                                         
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Question 7 
 
a. Median divides the data into halves. Therefore, the median is 2 
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a.  ∫ ∫+





=

2

1

4

2
)(

2
1 dxkdxx  

[ ]

8
1

2
4
3

4
4
2

2

1

2

=∴

+=

+







=

k

k

kxx

 

 
M1+A1 
2 marks 

 

b. ∫ ∫ 





+






=≤

2

1

3

2 8
1

2
)3Pr( dxdxxX    

=
8
7

8
236
=

−+  

     
A1 

1 mark 
 

Question 10 
 

a. 0.7170)Pr(X somean   theabove 5 is  this180
10
1755.0 =>=∴

−
= xx   

 
 
 
 

 
 

 M1+A1 
2 marks 

 

b. 
5
3

5.0
3.0

5.0
)180Pr()175|180Pr( ==

>
=>>

XXX   

A1 
1 mark 

 
 
 
 
 
 
 
 
 

0.3

z=0.5
z

z=-0.5



2009 MATHMETHODS (CAS) EXAM 1  
 

 TSSM 2009                                                                                                                                             Page 7 of 7 

Question 11 
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